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gget=gH| 18,000
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Oedgds=g 35,000
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308 AXISHMSOIA 160,000 160,000 0
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O& =M el &S ALK& 160,000
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CAIMEEHIN A 5,290,000 2,122,000 3,168,000
hag 5,290,000
403 XtXISHH S K201 5,290,000 2,122,000 3,168,000
hag 5,290,000
01 MHXHXMAEE = 5,290,000 2,122,000 3,168,000
O AIMESANSHAIL (ZEAZ) 5,290,000
fag 5,290,000
XSS er2 st 50,000 50,000 0
= 50,000
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CAHEZ AR
CEANEEXY
D AHEZ AR

AR SA Y- SAEA) - HRAY - BES 0l &t o il Bl RE2

403 Ut SHHSA=0l& 3,617,000 0 3,617,000
s 3,100,000
< 517,000

01 XM A2E X 3,617,000 0 3,617,000

OSANEESIXNAML AL (RelsUEall)(

ZSAl2) 3,617,000
as 3,100,000
< 517,000

EXossdze] 6,911,140 4,524,600 2,386,540
2 4,325,000
s 2,041,640
< 544,500

EX+=8f22Z 64,000 46,000 18,000

201 £B-2dH| 46,000 32,000 14,000

01 At 22/l 40,000 29,000 11,000
Oget=2tl 30,000
OEX=22dd LA NEzRUS 30,000
O2dsg 10,000
OEXN+=ERA2dTHd+=ZHL N 10,000

02 =24l 6,000 3,000 3,000
O3 ZHA 6,000
OEXN+=SMZEALESE 6,000

202 (44l 18,000 14,000 4,000

01 S LHOIYI 18,000 14,000 4,000
OEXOoEYERFA0HI 18,000

N HIBH 2 et S AR HI & 48,000 48,000 0

401 Al HI K 201 I 48,000 48,000 0

01 A& HI 48,000 48,000 0
OHEHE RS SAMIHSES 48,000

Hg Rt A2l (RNEY) 4,000 4,000 0
s 4,000

201 Let24E] 4,000 4,000 0
s 4,000

01 At 2t 2l 4,000 4,000 0
Oger==&H| 4,000
OMgHs A AL HERAS(RSEY) 4,000
s 4,000

Herst 222 (XE) 42,000 40,100 1,900
s 42,000

308 AHAIEHHSOIA 42,000 40,100 1,900
s 42,000

01 HIXNHHNBMNEELS 42,000 40,100 1,900
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as 1,995,640
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01 XM A2 X 1,995,640 3,259,000 A 1,263,360
OMNgHeR2SFUXNAANL(DESTY) 1,995,640
s 1,995,640
FEOIZSHRAEFHANAS KA 4,757,500 1,127,500 3,630,000
= 4,325,000
< 432,500
403 A X EHHS =0l A 4,757,500 1,127,500 3,630,000
= 4,325,000
< 432,500
TAXEH =2 X 4,757,500 1,127,500 3,630,000
OF022HRAFHINAS XA ALY 4,757,500
= 4,325,000
< 432,500
FEagesxzd 13,362,800 6,544,000 6,818,800
= 5,600,000
s 6,456,000
< 1,306,800
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= 5,600,000
s 6,456,000
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01 At 22l 80,000 80,000 0
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N = 0] &F AF S & AN A
20198 & 20 A LEHSH Al
AT AR AR SN BENLD
M NEZREINL =N
Sl KIHE LKA =T CERED
- _ _ RE]
AT SN BH O (3H) - MEAY - BES Ofl At o4 %Eﬁ HR=2
rag=-l R=1ani: 70,626,651 56,377,978 14,248,673
= 3,210,000
g 55,732,850
& 11,683,801
NS F=A 56,540,656 45,537,978 11,002,678
g 55,252,850
o= 1,287,806
Ko LU X ALY =& 46,456,500 31,467,700 14,988,800
Fag 46,076,000
o= 380,500
RSP =N 36,779,000 21,605,000 15,174,000
Fag 36,779,000
403 XX SRS K20 & 36,779,000 21,605,000 15,174,000
Fag 36,779,000
01 AXESHHE2E X 36,779,000 21,605,000 15,174,000
OXNSIHLXN AN (REANZ) 36,779,000
Fag 36,779,000
NEE=USFSI 3 4,470,000 5,148,000 A 678,000
g 4,470,000
403 XX S HS K20 & 4,470,000 5,148,000 A 678,000
= 4,470,000
01 XIS A=2E X 4,470,000 5,148,000 A 678,000
XSG L:=QUSI AL (FEAND) 4,470,000
Fas 4,470,000
ENHEX RS 500,000 2,147,000 A 1,647,000
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01 XIS A=Z2E X 500,000 2,147,000 A 1,647,000
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PNRS- ) =T R RIS N = P =1 109,500 189,500 A 80,000
201 et 4,500 4,500 0
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40 5 4

2 . 4
2. 2A B G(E) - KR Ol &k o8 il HlnE2
| = 745,300
FAXAME(Z Al 3,434,000 3,479,000 A 45,000
s 3,042,000
< 392,000
403 Mt SHHSA=0l& 3,434,000 3,479,000 245,000
s 3,042,000
< 392,000
01 HIXSHMA2E X 3,434,000 3,479,000 A 45,000
OSAMMEGISAE (ZSA 3,434,000
s 3,042,000
< 392,000
FAXNGAMNE(sHE) 4,526,000 7,226,000 A 2,700,000
s 4,160,000
< 366,000
403 X SHHE A0l & 4,526,000 7,226,000 A2,700,000
s 4,160,000
< 366,000
01 XM A=2E X 4,526,000 7,226,000 A 2,700,000
OsHEMS0ISASE (FSAIE 4,526,000
s 4,160,000
< 366,000
£ A DAL 88,200 88,200 0
AESAMFLES 88,200 88,200 0
A&l 2Y 83,200 83,200 0
201 et 70,000 70,000 0
01 At 22l 70,000 70,000 0
O2gsg 70,000
OH&l)I=doda LU S 70,000
202 o4dl 13,200 13,200 0
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O 22HEHE22H(ZSEY) 504,200
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401 AIEHI L 20 12,858,000 28,572,000 A 15,714,000
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s 1,000,000
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O2ELFTZ2MNHANEREUB(ZESY) 30,000
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< 895,000
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01 A& HI 10,738,000 5,756,000 4,982,000
O4JAHAIXNENZ (RSSY) 10,738,000
s 5,380,000
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02 Zeltl 100,000 100,000 0
OadEI2A 2N NSl (ZESY) 100,000
as 100,000
03 Al 2 THHI 20,000 1,000 19,000
OAREOIAI NS HBAIERUEI(ZSS L) 20,000
s 20,000
SHMAU=INCHE 4,272,000 6,857,000 A 2,585,000
s 2,850,000
< 1,422,000
401 AIEHI L 2 CHYI 4,272,000 6,857,000 A 2,585,000
s 2,850,000
< 1,422,000
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s 100,000
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s 2,000
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01 A& HI 3,219,000 1,286,000 1,933,000
ODYEFAINENB (PSS Y) 3,219,000
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RS-l DN =D = 400,000
NgeAHL 50,983,700 37,559,900 13,423,800
201 2et2 Y| 3,000 3,000 0
02 2324l 3,000 3,000 0
O3323YAHA 3,000
OV =EAI2IHIRLE S 3,000
202 o4dl 26,400 26,400 0
01 = LH o4 1l 26,400 26,400 0
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401 Al IR 201 I 50,950,000 37,526,000 13,424,000
01 A& Bl 48,100,000 35,486,000 12,614,000
OXNEEAY 48,100,000
02 2feldl 2,600,000 1,850,000 750,000
OX g E A 22l 2,600,000
03 Al 2 THHI 250,000 190,000 60,000
OXg AL Al A RO 250,000
Ao =XN2H 307,000 307,000 0
202 O4dl 4,000 4,000 0
01 = LH 4 Hi 4,000 4,000 0
Oo=sEX2&H™el ol 4,000
305 a2 S 3,000 3,000 0
01 tia=8 3,000 3,000 0
[N R== =N [ PN = 3,000
401 Al HI K 201 I 300,000 300,000 0
01 A& Bl 300,000 300,000 0
OXNgE0 =8N 300,000
CERUSEXA 101,002 91,083 9,919
101 @124 dl 101,002 91,083 9,919
04 JIZHHZ2XREES 101,002 91,083 9,919
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66,800 *252X & 2«31 T 101,002
N2/ AHEX 1,380,000 1,380,000 0
308 AHAIEHHSOIA 1,380,000 1,380,000 0
01 HXNHHNBHEELS 1,380,000 1,380,000 0
OXgE=2 00124 1,380,000
EZ2FEZE 0T 210,000 210,000 0
308 XX EHH SOl 210,000 210,000 0
02 8+wTF= 210,000 210,000 0
OczdEzd+023 210,000
C2FHYSRIEY 9,000 9,000 0
303 Z& 3 9,000 9,000 0
01 243 9,000 9,000 0
ODEZHHERRIEELYS 9,000
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A HA T A2 2N EXNEEN
M FOIHOSEONNAE
Sl EENAUNNHYTH (B9 ®R)
- _ _ RE]
2.2 FHB B EH) - NEAY - BES Ofl At o4 %Eﬁ HR=2
OJ]===dUEAZ=E 0| 10,000
KETHZAAIL (EX) 1,025,000 1,153,000 A 128,000
2 1,025,000
308 XHXIGHH SO0l & 1,025,000 1,153,000 A 128,000
= 1,025,000
01 AXHHIMNEXS 1,025,000 1,153,000 A 128,000
X ZETHEAAFS 1,025,000
= 1,025,000
SR22AMB Y H RS 2,337,444 1,829, 136 508,308
= 1,314,000
o= 1,023,444
Z2AMBAIAH A 560,098 506, 836 53,262
201 et 9| 176,947 187,079 A 10,132
02 23244 176,947 187,079 A 10,132
A& &Hl s Al 176,947
OZBUAEEBANAHESE R E2H| 176,947
202 044 14,000 15,000 A 1,000
01 2L bl 14,000 15,000 A 1,000
22U EBH2F=X 0| 14,000
207 A S OH 4| 50,000 0 50,000
02 & AP Y| 50,000 0 50,000
OAQIEZ2UHXABA|AEDBHASH(FCEN) 50,000
405 XHAHF S HI 319, 151 304,757 14,394
01 AL 2 ZF S| 319, 151 304,757 14,394
O22tE B A AE A Y| WA 319, 151
XN ZB22AEBHOIHR=S 100,000 0 100,000
308 XNXISHHM SO0l & 100,000 0 100,000
01 IXHHIMNEXZ 100,000 0 100,000
33X Xl &= G A HI & 100,000
CRHFTAEELMEFER 65,800 61,000 4,800
201 et d| 25,000 20,000 5,000
01 AFR 2t 2| bl 25,000 20,000 5,000
Ogsr=2H| 25,000
OEZ2YUFAESEESHES 25,000
202 044l 6,000 6,000 0
01 2L Y| 6,000 6,000 0]
CE2HEFEAHALI2F=NAHY] 6,000
203 &R F&d| 4,800 5,000 A 200
03 AIZH =& 25 X H| 4,800 5,000 A 200




A HA T A2 2N EXNEEN
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Sl HHZAISUNRE CERED
. i - o
SoSA-EESY(EH) - NEAY - B Ol At o gﬁ‘&i HR=2
REEEERSEESS 4,800
308 XAHXIGHHM SO0l & 30,000 30,000 0
01 IXHHIMNEXTZ 30,000 30,000 0
O2Z2IMXNEHSTAE X XS AS 30,000
CE2HFTASESSHEHESYE 77,546 51,300 26,246
201 et d| 5,060 5,060 0
01 AR 22l ] 5,060 5,060 0
Ogsr=2y| 3,800
OEZYFAJISIARERLS 1,800
OESYFAHLIFTNADERUS 2,000
Oeds¢ 1,260
Oz FAAI2gE 1,260
403 XX SHHS K20 & 72,486 46,240 26,246
02 BI2SHUSXAN=2EAEAIE Y 72,486 46,240 26,246
OZNFAFEAAE2A 15,740
OE2HFAIS2=SHMGGAIS 56,746
T2YHFAAY 220,000 70,000 150,000
401 Al HI L £ 0HHI 150,000 0 150,000
01 Al& H| 150,000 0 150,000
O HTOFAZHEXIAEX(FLIEN) 150,000
403 XX SHHS K20 & 70,000 70,000 0
01 XIS A2E X 70,000 70,000 0
JEec=2H oA x| 70,000
C2UXIGHAI A = ™ At 1,314,000 840,000 474,000
= 1,314,000
403 XX SRS K20 & 1,314,000 840,000 474,000
= 1,314,000
01 MXHAHAE2BE = 1,314,000 840,000 474,000
OS2 L XA EE X AF AL 1,314,000
= 1,314,000
HHSAAH (EXNZE DY) 39,404 35,660 3,744
Jl2 &l 39,404 35,660 3,744
Jl2&H| 39,404 35,660 3,744
201 Lete | 29,204 29,060 144
01 AP 2t 2] d| 29,204 29,060 144
Ogst=2H| 13,700
OEXNEEANMAROALEAISI LS 4,500
OMBESELIIEIx=EH] 9,200
O3] 15,504
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A 2 0l & A &2 & Al A
20198 = =0l &b 2B M
A= AEZ A= fAM otE
Ha: otE UL BE
ool AEHAHGHTY FA (B9 ®R)
- _ — d =
A .24 - B BAGEA) - NPAY - BES 0] &k o4 e HlDE2
ot & ot 164,807,119 166,998,799 A 2,191,680
= 10,398,000
s 90,200,000
< 64,209,119
Ot Y =Xt 2tel 152,317,500 154,109,500 A 1,792,000
= 4,083,000
s 90,200,000
< 58,034,500
HEBHGAFHH =& 148,234,500 154,109,500 A5,875,000
s 90,200,000
< 58,034,500
SHE THOH Ol L AL (R E) 87,994,000 79,005,000 8,989,000
s 46,746,000
< 41,248,000
401 AIEHI L 201 87,994,000 79,005,000 8,989,000
s 46,746,000
< 41,248,000
01 A& HI 83,390,000 77,340,000 6,050,000
Oct&THaH ol ArS (RS & HI) 83,390,000
s 44,322,000
=) 39,068,000
02 Zteltl 4,400,000 1,400,000 3,000,000
OctETHoH ol At (2 S < HI) 4,400,000
s 2,315,000
< 2,085,000
03 Al 20 HI 204,000 265,000 A 61,000
Ot THaH 6l ArE (RS &) 204,000
s 109,000
< 95,000
SF & THoH Ol 2 AL (KT &) 52,751,000 36,052,000 16,699, 000
s 40,925,000
< 11,826,000
403 HtXSHHSA=0l& 52,751,000 36,052,000 16,699, 000
s 40,925,000
S 11,826,000
01 HXSHMA=E X 52,751,000 36,052,000 16,699, 000
CIotETHOH Ol 2 AL (Z S =) 52,751,000
s 40,925,000
< 11,826,000
DEoI AN (X&) 3,034,000 11,400,000 A 8,366,000
ras 2,529,000
< 505,000
403 MtXISHHE X201 & 3,034,000 11,400,000 A 8,366,000
as 2,529,000
< 505,000
01 AXISHH A2 = 3,034,000 11,400,000 A 8,366,000




AR ALTAIR FA o oHE D
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Cel: ABANGEFY = (ctel:&2)
R.RA-ZE-G(HH) - HRAY - BES Ol &k 2 il H D = 2t
ODEUAME (2SS H|) 3,034,000
s 2,529,000
< 505,000
SHEHE YR 4,455,500 4,226,500 229,000
201 L2l 30,000 0 30,000
01 At 22| bl 30,000 0 30,000
O2gsy 30,000
OSsl(Mdlg)BgeE s 30,000
202 O4dI 14,700 15,500 A 800
01 SLHA Y] 14,700 15,500 A 800
Ot HEZRFE I 14,700
203 R F=&H| 4,800 5,000 A 200
03 A FAH S =AY 4,800 5,000 A 200
BT EESS 4,800
401 Al HI & 28I 4,406,000 4,206,000 200,000
01 Al &t 4,400,000 4,200,000 200,000
L E=PIESTEER 4,200,000
OPMS RS 2elHE 4 200,000
03 Al =20 HI 6,000 6,000 0
Ot &I 2 H & 42 A &2 6,000
A4 4,083,000 0 4,083,000
=2 4,083,000
AADHUAL (25E) 4,083,000 0 4,083,000
= 4,083,000
403 XAXISH M S X201 A 4,083,000 0 4,083,000
= 4,083,000
01 XXM A2E = 4,083,000 0 4,083,000
Ogsteds 4,083,000
= 4,083,000
SHEMESZUEH 150,000 155,000 25,000
SHEAIHEEE 150,000 155,000 25,000
StEAId S =228t 150,000 155,000 A5,000
201 LB-2d| 100,000 105,000 A5,000
01 At 2t 2|l 100,000 105,000 A5,000
O3l 100,000
OotEAMEEER 50,000
O3t 50,000
308 XXl S0l A 50,000 50,000 0
01 IXNSHHBANEES 50,000 50,000 0
O9sLd=seY 50,000
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AR SA Y- SAEA) - HRAY - BES 0l &t o il Bl RE2
St RXNEF=FA 9,979,300 10,746,900 AT67,600
2 6,315,000
< 3,664,300
St ZHIFX 9,979,300 10,746,900 AT67,600
= 6,315,000
< 3,664,300
otE EHIAY =& 3,664,300 4,044,900 /380,600
201 Let24E] 23,500 3,500 20,000
01 At 22l 3,500 3,500 0
Ogst=2tl 3,500
OGSt HHIAIL 2B NRRAS 3,500
03 &AL Z I 20,000 0 20,000
O4xtAHE & H (S0CEE) 20,000
202 O4dl 10,800 11,400 A 600
01 = LH 4 Hi 10,800 11,400 A 600
Jot& ZHI ALY =& O B 10,800
401 Al HI L = THYI 500,000 500, 000 0
01 A& HI 500,000 500,000 0
OXgstE2 =&l 500,000
403 AXIEHH S 201 A 3,130,000 3,530,000 400,000
01 X HMA=ZLE L 3,130,000 3,530,000 A 400,000
OJI&d M EH A 300,000
LGt E = AL 2,330,000
OXgotd+==2H AL EHAS 300,000
SN ESHAAS 200,000
IIIGtE SN EALS 6,315,000 6,702,000 A 387,000
= 6,315,000
403 XIS E X201 H 6,315,000 6,702,000 A 387,000
= 6,315,000
01 X SHHAN2E = 6,315,000 6,702,000 A 387,000
O=0totd F X E=AtS 6,315,000
= 6,315,000
HY2HZHl (ot& 1) 106,319 91,399 14,920
Jl23&dl 106,319 91,399 14,920
1=l 106,319 91,399 14,920
201 Let24E] 87,494 74,599 12,895
01 At 22l 87,494 74,599 12,895
pt=2H] 71,990
O3ANERAAMNESESTIYS 71,990
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AR ALTAIR SAAEAELY
Hu: HZHOCHAMTAEZ
R TEAMEAAE CEE-ED
- _ _ RE]
AR .24 EHH O () - HEAY - BL2 Ol At o %Eﬁ HR=2
OaBtL&H| 381,000
OZSEHANEZAEER 371,000
OEHANTZANEEXNESH A 10,000
02 BBl 15,160 5,160 10,000
DAL S HI R X bl 15,160
OEFHATZACHHZHIE MRS E 4 2,160
ONEZEAI L UEHOIXNSKNE S 3,000
Oossgan2e 10,000
CEHAMEZAEHS 120,000 150,000 A 30,000
308 XHXIEHSOlIA 120,000 150,000 A 30,000
01 AIXSHMEMNEX= 120,000 150,000 A 30,000
OMNEHX AN e 60,000
OANE0INEHot=AMEA DM 60,000
MESHEHEAMNEZAIEZHS 24,296,000 20,319,000 3,977,000
= 9,928,000
g 1,500,000
= 12,868,000
HEAMESAZH 24,296,000 20,319,000 3,977,000
= 9,928,000
= 1,500,000
= 12,868,000
AMEAJHE XS 900,000 730,000 170,000
401 A& HI L 2 0HHI 900,000 700,000 200,000
01 A& Hl 893,520 695,000 198,520
ONMEA~XSL 96 HAB 2 A 397,120
OASAI~SIS(ZXEAMMR)HZE 24 A 496,400
03 A& E2HH] 6,480 5,000 1,480
OMNEA~XEE96SHAZ 2 HE 2| 2,880
OAMEZ A~ (BEEATHAN)HZEZ2 & 20U HI 3,600
NHASHABHOIZAIE(SCIX) 3,000,000 3,000,000 0
fag 1,500,000
& 1,500,000
403 XX SHHS K20 & 3,000,000 3,000,000 0
fag 1,500,000
& 1,500,000
02 2I|2SO USRS EAEAEHI 3,000,000 3,000,000 0
OXNHSAEBHOI AL (SCX)(ZETH]) 3,000,000
hag 1,500,000
= 1,500,000
NEANNYC RS HAANS SIS IAZY 100,000 150,000 A 50,000
401 Al HI L E0HHI 100,000 150,000 A 50,000
01 A&l 100,000 150,000 50,000
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A .24 - B BAGEA) - NPAY - BES 0] &k o4 e HlDE2
OMSANXNUEZ2FAASEZLSETASA(
HELSIAEZ) 100,000
FETHMUEANIULEZ AL R 19,856,000 4,128,000 15,728,000
= 9,928,000
< 9,928,000
401 Al HI K 201 I 19,856,000 4,128,000 15,728,000
= 9,928,000
< 9,928,000
01 A& HI 19,106,000 4,078,000 15,028,000
O=E2856~AEANHBEZH A 19,106,000
2 9,928,000
= 9,178,000
02 2teldl 700,000 0 700,000
0252856~ EAHBEZ20 A& 2 el 700,000
03 Al 2 THHI 50,000 50,000 0
O=E285 6~ EAHABEZ2 L 2 Y| 50,000
OISU2MEAESE =S 440,000 230,000 210,000
206 M= Hl 30,000 30,000 0
01 =4l 30,000 30,000 0
Oddss=lzesizgre 30,000
307 21201 A 250,000 180,000 70,000
05 RIZt2IEt = 250,000 180,000 70,000
Odd=s=izesd 250,000
401 Al HIZ 201 I 100,000 20,000 80,000
01 A& HI 100,000 20,000 80,000
O=33XFH A 100,000
403 MtXISHHE X201 & 60,000 0 60,000
01 AXSHMA=2EE 60,000 0 60,000
OAEAMHZAZEH ALY 60,000
HYE2LIH (M EAEZLED) 66,826 83,480 A 16,654
Jl2&dl 66,826 83,480 A 16,654
o123l 66,826 83,480 A 16,654
201 et 26,626 28,480 A 1,854
01 At 22l 26,626 28,480 A 1,854
pt=2Hl 15,150
OLEN=LEOIMROS 9,150
OJIs2mnesErY 6,000
E=3=q:] 11,476
OJI2ge2FdSE2=4Hl 11,476
202 (44l 36,000 40,000 A 4,000
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N & o & AF & H A A
2019 S0l LBt H &
AR AETAR SN SRALALL
HE: NYCHEUSN e
ch < EUSYSS (&)
= - — SHE]|
MR 2N FB-BA(E) - MRAY - BAS 0l &k 24 e bl D=2t
Eg Ab A 30,269,114 22,924,560 7,344,554
s 640,000
< 29,629,114
ANgestsdsi el 25,585,572 18,560, 530 7,025,042
s 640,000
< 24,945,572
FUSYESE 8,959,800 5,806,000 3,153,800
MNelES&ZH 8,959,800 5,806,000 3,153,800
202 oddl 5,000 1,000 4,000
01 SLHOIYI 5,000 1,000 4,000
OAtel S =t 2 ZF 8O b 5,000
203 ¥ S =&l 4,800 5,000 A 200
03 AIF=XH R =AH| 4,800 5,000 A 200
OXNECSHZZIAZFA 4,800
401 Al Bl 2B 8,950,000 5,800,000 3,150,000
01 A& HI 8,891,000 5,761,500 3,129,500
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OREE2RZNLAALEE(AESY) 993,700
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s 140,000
< 140,000
401 AIEHIZ 28I 280,000 0 280,000
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g Ngcasd R 2
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A .24 - B BAGEA) - NPAY - BES 0] &k o4 e HlDE2

202 Od4dl 36,000 36,000 0

01 = LH 4 Hl 36,000 36,000 0
OXgEsXelgRFA0H 36,000

206 2 I 60,000 30,000 30,000

01 T2l 60,000 30,000 30,000
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03 Al 2 0HHI 53,500 49,700 3,800
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401 Al HIZ 201 8] 100,900 0 100,900

01 A& HI 100,000 0 100,000
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03 Al 20 HI 900 0 900
OS2 HOHHEX AL A E RO 900

w oM e 5,175,000 4,396,000 779,000
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401 Al HI K 2018 1,800,000 1,700,000 100,000

01 A& HI 1,792,400 1,692,500 99,900
OISR AFSG Al & HI 1,792,400

03 A& =TI 7,600 7,500 100
WS NMAE Al E RO 7,600

WEEFZ2ZAY 2,129,000 1,398,000 731,000

201 Let24dH] 212,000 186,000 26,000

01 At 22/l 8,000 0 8,000
O=2g=¢ 8,000
OSa(MI12)BYE YAV B H 2L L0 8,000

02 2324l 204,000 186,000 18,000
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03 Al 2 THHI 16,000 10,200 5,800
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A2 813,725 516,754 296,971
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OSUMSIEE = 9,219
O2tAlHl, R4 X 2| 1,000

201 ¢er24l 312,250 307,680 4,570

01 At 2t 2l 43,250 42,120 1,130
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OYXBEHI YA EY] 4,000
O&F At 2te| L eh==Z ] 4,000
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A= HEZ A= 2N SREHAEAE A
. FAN2IE
S OFSCU23 AL 22 (e &)
AR 2N EH O () - MBEAY - BAS 0 AF o il HZS2
03 A& 2 0HbI 540 0 540
OSEFEAYHEHAANAE DMAIE L8] 540
405 XH&HE S b 284,400 4,200 280,200
01 AL 2 S F SHI 284,400 4,200 280,200
R PSR- I F~PN| 280,000
O-E=SaAEH(2U) 3,000
ootz (1) 1,000
IO DI (1TH) 400
BHSYJH (SRALAY L) 3,849,817 3,847,276 2,541
ol 23| 3,667,047 3,445,906 221,141
ol 2A | 3,667,047 3,445,906 221,141
101 @124 3,573,387 3,361,606 211,781
01 2= 3,066,594 2,944,877 121,717
OoJis=s 2,257,567
Od=H 396,921
-4 87,373,000& *1H 87,373
-52 77,387,000& 44 309,548
Oz A 1,678,750
-3 (262 2) 4,541,800& x1H =128 54,502
-p=(2vs=2) 3,899,400& x15H x12& 701,892
-72 (155 8) 2,997 ,500& x22H x12& 791,340
-82(5e8) 2,183,600 x5Y x12& 131,016
odz2x<¢ 1,678,750,000& «1/12%50%*23] 139,896
(OF == = 42,000
- 25E 0] & 130,000& *11H = 12& 17,160
- 209 0| & ~25E 0] B¢ 110,000& 3G »12& 3,960
- 154 0| &~20E 0] 2t 80,000 x7H x12& 6,720
- 109 0l &b ~15E 0] 2F 60,0002 *8H x12& 5,760
- 54 0] &~104 0] 2¢ 50,0003 *14H = 12& 8,400
O 467,101
O&a=< 16,731
-HRsRASY 16,731
32U
87,373,000 /12%78%*4 . 1%*1H «12& 2,795
42U R
77,387,000 /12%78%*4 . 1%*1H « 128 2,475
- 523U R 4,136,6003 x4 . 1%*3H x12& 6,106
6= 3,744, 100& x4 1%*2H x12& 3,685
72U 3,392,900& x4 . 1%x1H x12& 1,670
ONAHEBELY 79,733
-tEY 60,240
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& o 2d| (&)
AR SA Y- SAEA) - HRAY - BES 0l &t o il Bl RE2
B[P 40,0003 x49Y x 128 23,520
- XA 20,0003 x49H « 128 11,760
- EMAH 60,000 x23H «12& 16,560
AW oIE XA 100,000& «2H 128 2,400
- JIEHIES 20,000 x25H «12& 6,000
- AHEEHEEE 7,493
R 468,300 x4 H x43] 7,493
-FosAsY 1,000,000 x1H x12& 12,000
OE=22+8 25,920
-RAE2RsY 1,440
S 40,0003 x3H 128 1,440
-Exgeag(0sdEsd) 24,000
52 50,0003 x3H 128 1,800
R A= 30,0003 *30H «x12& 10,800
- 8~9=2 20,0003 x6H 128 1,440
S JHEZ (I A 50,000& »1H =128 600
CHSEZ(OIA IS E)
30,0003 *23H +x12& 8,280
JH&EZ2 (AP DIAE) 20,0008 2 122 480
I3 (286~7=2) 10,0008 +3H 122 360
JHat2(288~92) 20,0003 18«12 240
- SAYURLY(HULY)
40,000 x1H » 128 480
OxzH2R+=EsS 343,517
-AAeZ2RE 338,611
JAH= 11,4013 x10A| 2t*x45H « 128 61,566
= 11,4013 »45 Al 2t *45H « 128 277,045
-2 RsE 4,541,800 «9%x1H <123 4,906
ORESRI+Y 50,000& »2H =128 1,200
OFAg A 130,000 48 x12& 74,880
OFEFotd| 1,678,749,600& *1/12x60%*23| 167,875
LHIE &bl
2,075,670,600% 1/12%86%*1/30%x202 99,171
B RIHA22IES 506,793 416,729 90,064
Ocz8d 238,462
OJles 1,654,330 «6H 128 119,112
Oo&N= 1,654, 330& 6 X x400% 39,704
Ogxt==g 1,654,330 /209+8* 18 x6H 6,839
o254 180,000& x6H 122 12,960
Oggaesy
1,654,330 /209 1.5+ 14 Al 2t+6H 12 11,969
OANMZAZRY
1,654,330 /209 1.5+ 16 Al 2t+6H x 12& 13,678
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OO0l 32,400
o1l =l 1,800
OF A2l (FAr22]) 37,799
OoJlzs 1,573,770 18« 12& 18,886
o&n= 1,573, 770& « 18 «400% 6,296
Og X< 1,573,770 /209+8 19 24 1,446
o254 230,000& x1H «12& 2,760
oAzt 28e+g
1,573,770 /209%1.5%20 Al 2t 1 » 12 2,711
Ol 5,400
o1l =l 300
OFAMZe/ 2 (E L) 56,732
OoJlzs 1,573,770 «2H 128 37,771
Oo&N= 1,573, 770& «2H «400% 12,591
Og X< 1,573, 770& /209+8x2% 20 2,410
25 140,000& »2H «12& 3,360
o1l =l 600
O EELH 71,683
OoJlzs 1,573,770 x2&H x12& 37,771
Oa0= 1,573, 770& «2H «400% 12,591
OAR=< 1,673,770 /209+8%2H 192 2,290
oz2x=+¢ 180,000& x2H x12& 4,320
OANZZ2Rxg
1,573,770 /209% 1.5+ 10 Al 2t 2 » 122 2,711
OO0l 10,800
O1l=dl 1,200
Os=¢ 20,547
Ot&E=¢ 16,800
- B X 40,000 x11H «12& 5,280
D PN IE 20,0003 x11H «12& 2,640
-=SMAA 60,000& x5 122 3,600
- JIEHOES 20,0003 x22H 128 5,280
OXtHSHIEx+Y 3,747
-1sstn 468,300 x2H x43] 3,747
Owns&E 2l 60,000 x11H «12& 7,920
OFEF0td| 700,000& 11 »23] 15,400
Ozl 130,000& 11« 12& 17,160
OfR4dxZHEAS S 1,000
L5t At 28 40,090
204 MR =HFH| 93,660 84,300 9,360
02 A== x4 93,660 84,300 9,360
=) 400,000 x1H «12& 4,800
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= o
A & 0l & AF 2 E A A
20198 = =0l &b 2B M
A= AEZ A= PN ERALAE D
HE: NYCHEUSN e
Chel: S2nsYEE (Sl & &)
- _ — d =
A .24 - B BAGEA) - NPAY - BES 0] &k o4 e HlDE2
gRHLEAE A 29,140,913 22,845,938 6,294,975
= 80,000
N 2,834,300
= 26,226,613
ANgestsdsizel 24,238,545 18,241,856 5,996,689
s 80,000
EN 2,834,300
< 21,324,245
CRNsSYES 7,501,395 6,935,500 565,895
AMNelE& - TEAY 7,501,395 6,935,500 565,895
202 044l 1,395 1,500 A 105
01 SLHOYI 1,395 1,500 A 105
DAl St ZZAMS LS FE A 1,395
401 Al HIZ 201 7,500,000 6,934,000 566,000
01 A& Hl 7,460,000 6,901,000 559,000
OAtel S = ZZ AL Al &E Y| 7,460,000
03 A& 2 THHI 40,000 33,000 7,000
At S =t ZZ AL Al E 2 I 40,000
g s Xzel 8,116,070 5,836,500 2,279,570
e 2,834,300
< 5,281,770
ALK 2el 7,473,250 5,402,500 2,070,750
e 2,834,300
< 4,638,950
201 Let24d] 156,000 162,000 A 6,000
01 At 2teltl 10,000 16,000 A 6,000
Ogpt=2Hl 10,000
CusC=zsd8ES 8,000
OZHI2EXNANATMHUHH HEZS LS 2,000
02 =224l 146,000 146,000 0
OSZ223ZHA 21,000
ONtsSiHAHESI2=LHAMS 21,000
PN A=Fal=gsl 125,000
OAELEHIRANLIYLRFUH 50,000
OXgsXNHYsFUH 65,000
Od & +=s&dl =Xl 10,000
202 4Hl 42,450 45,500 A 3,050
01 = LH A HI 42,450 45,500 A 3,050
OXNgeEsmX el gRF=E0H 42,450
203 YR =&l 4,800 5,000 A 200
03 A F=XH R =AY 4,800 5,000 A 200




AR AETAR SN HRABAL L
HE: NYCHEUSN e
& XNgEFX 2t (&)
- _ — d =
A .24 - B BAGEA) - NPAY - BES 0] &k o4 e HlDE2

OXgEs X el Al =2 4,800

206 M= Hl 60,000 30,000 30,000

01 MHZ 8l 60,000 30,000 30,000
OMegxgdsdstzs2l 60,000

303 Z& = 6,000 6,000 0

01 Z&= 6,000 6,000 0
OXHAHlSSAL XA st 6,000

305 et =S 14,000 14,000 0

01 Hi&a=SE 14,000 14,000 0
OAMB & HZEMS 14,000

401 AIEHI L 20 7,190,000 5,140,000 2,050,000
e 2,834,300
= 4,355,700

01 A& HI 7,131,000 5,101,500 2,029,500
OXgEFs X el ALS Al &I 7,131,000
N 2,834,300
= 4,296,700

03 A& S THHI 59,000 38,500 20,500
OSSR ASAE 28 59,000

T2 otM2te 300,000 300,000 0

401 A& HIZ 201 8] 300,000 300,000 0

01 A& HI 297,000 297,000 0
S Z20tM 2te| At Al & HI 297,000

03 A& 2 THHI 3,000 3,000 0
O==2 M 22| ALH Al E RO 3,000

HET S 82,820 84,000 A 1,180

201 L4l 10,000 9,000 1,000

01 At 22l 6,000 5,000 1,000
Oger==&H| 3,000
OMRHE=sE2 =704 3,000
o=l 3,000
OH=P I SH Lo (0r) I =4l 3,000

02 =224l 4,000 4,000 0
Al & ZHl s Xl 4,000
O0ISAESINEAAES 2,000
O0lsa==2JI+aldl 2,000

202 044l 22,320 24,000 A 1,680

01 = LH o4 1l 22,320 24,000 A 1,680
O HEH L= 0 22,320

401 AIEHI L 20 50,500 51,000 A 500




A2 AHCAR SN ERALALL
g Ngcasd R 2
& XNgEFX 2t (&)
- _ — d =
A .24 - B BAGEA) - NPAY - BES 0] &k o4 e HlDE2
01 A& HI 50,000 50,000 0
28 M & = X &4 X b 50,000
03 Al =2 THHI 500 1,000 A 500
O2d8MetZEX A AIL R0 500
CRHE A LS 60,000 50,000 10,000
401 AIEHI L 20HEI 60,000 50,000 10,000
01 A& Hl 59,000 49,000 10,000
OE2UEEASIAIS AIEHI 59,000
03 AIE =2 THHI 1,000 1,000 0
OEZUHE A LS AL Al E 2O 1,000
S YO EXIE | 200,000 0 200,000
401 AIEHI L 20 200,000 0 200,000
01 A& Bl 198,000 0 198,000
OS2 HOHHEXN EHIAI LI 198,000
03 Al 2 THHI 2,000 0 2,000
OS2 Y HEXIEUIAIE 20| 2,000
AsXtuns2el A 160,000 0 160,000
s 80,000
< 80,000
DEMIZSRMH 160,000 0 160,000
ras 80,000
< 80,000
401 Al HIZ 2018 160,000 0 160,000
as 80,000
< 80,000
01 A& HI 160,000 0 160,000
ORSADIRSRNE(FSEY) 160,000
s 80,000
< 80,000
WEIN - B otM 2L 8,312,060 5,337,900 2,974,160
WA AL 4,000,000 1,910,000 2,090,000
401 AIEHI L 2 CHYI 4,000,000 1,910,000 2,090,000
01 A& HI 3,965,000 1,885,000 2,080,000
T SO0 M A Al & I 3,965,000
03 Al 2 THHI 35,000 25,000 10,000
OO EHMAS AL S| 35,000
e BZAMY 2,275,060 1,436,900 838, 160
201 et 900 900 0
01 At 22l 900 900 0
O o=l 900




A HA T A2 2A HEAHALAIY A
HE: NYCHEUSN e
Selr DN BAUEL (B9 ®R)
- _ _ RE]
AT SN BH O (3H) - MEAY - BES Ofl At o4 %Eﬁ HR=2
OuEEx8E2AIE =X 1 =H| 900
202 04d| 11,160 12,000 N840
01 2L HI 11,160 12,000 A 840
OnNEE8+2B2AAS =0 11,160
401 AIEHIZ 201 Y| 2,263,000 1,424,000 839,000
01 Al&H| 2,242,000 1,411,000 831,000
B8 22AS A& 2,242,000
03 AlE 201 Y| 21,000 13,000 8,000
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